N Ry e
[J T g .~ :
NGRS
<. 2 4 /
A 3
A
h ‘

A4
' \ ‘ PRODUCT MANUAL



&

CONTENTS

Aluminum Profiles
Bolts & Screws

Nut / Slut Nut

Accesories

Connectors

Leveling Feet

Hinges

Catches

Cable Clips & Uniblock s
End Caps and Slot Cover

Handles & Tool Hangers

Casters

Rollers

Connector Set
Wire Mesh




Technical Data for automation profiles

EN AW -
AlMgSi0,5 Material designation according to DIN EN 573
245 N/mm’
Rm Minimum tensile strength Rm
Rp 0,2 1 N/mm?
Proof stress in direction of pressure
10 %
AS o
Ductile yield
8%
A10 I
Ductile yield
E ; .
approx. 70.000 N/mm® Modulus of elasticity
HB approx. 75 Brinell hardness
. 23,4 x10-6 1/K
Longitudinal expansion coefficient
Tolerances DIN EN 12020-2
Anodizing process E6CO
Thickness of layer 10 -15pm

List of abreviations

Moment of inertia

Moment of inertia




W x Section modulus
Wy Section modulus
G Mass (kg/m)
A Profile Surface
VPE / PU Packaging Unit
L Length

Metric / US / Conversion Chart

MeasurementM ultiplyb y to get
0.03937 inches
Linear millimeters 25.4 millimeters
(mm) inches (mm)
meters 3.2808 feet
feet 0.3048 meters
centimeters” (cm’) 0.155 inches”
Area inches’ 6.4516 centimeters” (cm?)
kilogramm (kg) 2.2046 pounds
Mass pounds 0.4536 kilogram (kg)
centimeters? 0.02403 inches
(cm %) inches 41.623 centimeters”
Moment of intertia (cm®)
Moment of | centimeters’ (cm’) 0.06102 inches’
T — inches’ 16.387 centimeters® (cm’)




Tolerances Series 1

7P
1P

N

8
N

a | 6,0 +0,3/-0 8,0 +0,3/-0 10,0 +0,4/-0

b | 12 0,2 16,5 +0,2 20,1 +0,25

c | 5,5+0,15 9,0 £0,15 12,5 +0,15*

d ] 15+015 2,2 +0,15 6,0 +0,15

e ] 0,201 0,2 0,1 0,201

di] 5,5 +0,2/-0,1] 7,3 +0,2/-0,1] 10,0 +0,15
6 10

N

* max. 14,5 +0,15 bei / for B10 4545L

Iltem Code

I x

Iy
Wi

6
Series 1 Grid 20 I

R6-2020L

l




Wy X

G
A
VPE / PU
L 3000 mm
Item Code R6-20R90
Ix 0,58 cm#
| 0,58 cm#
’ 0,55 cm?
Wy 0,55 cm?®
Wi 0,44 kg/m
A 1,62 cm?
G
L 3000 mm
/[ PU 20 Stk. / pcs.
Item Code R6-2040 Y i
| x 4,61 cm* :DE { -
ly 1,20 cm* S g\ I
2,31 cm? ao
] 1 i N
Wi X 1,20 cm?® ~
" orriam B
.87 cm ;—'
G ) 3 A
A
VPE / PU 24 Stk. / pcs 20

L 3000 mm



Series 1 Grid 30 I

Item Code R8-3030L
I x 2,77 cm* Y
Iy 2,77 cm#
Wi
Wy
1,85 cm?
1,85 cm? 14 cm? ’ \_r
G 0,85kg/m D DJ
A
30
VPE /PU 20 Stk. / pcs.
L 6000 mm
Iltem Code
R8-30R45
| x 5,29 cm*
Iy 3,70 cm*
Wx 2,37 cm?®
13 cm?®
Wy
G 1,11 kg/m 12 om?
A
VPE / PU 20 Stk. / pcs
L 6000 mm

Item Code R8-30R60



VPE / PU
L

4,25 cm

3,12 cm
1,95 cm?

1,77 cm?
1,01 kg/m
3,73 cm?

20 Stk. / pcs.
6000 mm

Series 1 Grid 30

ltem Code

x

<§ é <

> O

VPE /PU
L

R8-30R90

2,28 cm*
2,28 cm*
1,41 cm?
cm?

0,78 kg/m
2,88 cm?

20 Stk. / pcs.
6000 mm

\

)

W\

\




Item Code R8-3060

19,66 cm*
5,09 cm*
6,55 cm?
3,39 cm?®
1,49 kg/m
5,53 cm?

-

> 0 = —.—

VPE/ PU 10 Stk. / pes.

L 6000 mm

Series 1 Grid 40

20 Stk. /
Iltem Code R10-4040L

9,06 cm*
9,06 cm*
4,53 cm?
4 53 cm?®
1,91 kg/m
5,61 cm?

x

E E‘-:_ x

> O

L 6000 mm

10

|
SIS
7.3

pcs.

40

VPE / PU




ftem Code

=<

x

<

>0 ==

ftem Code

x

<

> 0= =~

VPE / PU

VPE /PU
L

Series 1 Grid 40

R10-4080L

63,24 cm*
17,23 cm*
15,81 cm?®
8,61 cm?
2,67 kg/m
9,86 cm?

6000 mm

R10-8080L

132,62 cm*
132,62 cm*
33,16 cm?
33,16 cm?®
4,98 kg/m
18,45 cm?

6 Stk. / pcs.

12 Stk. / pcs.

10

O




Series 1 Grid 45

Iltem Code

| x 4

ly

Wi

Wy X
G
A
VPE / PU
L

Iltem Code

6000 mm

R10-40R90L

6,84 cm
6,84 cm*
3,06 cm?®
3,06 cm?
1,28 kg/m
4,75 cm?

20 Stk. / pcs.
6000 mm

R10-4545L

10




Series 1 Grid 45 10

I x 11,00 cm
4 Y 11,00cm
¥ 4.89 cm?
4,89 cm?®
Ws 1,55 kg/m
Wy 5,73 cm?
G X
A
VPE / PU 20 Stk. / pcs.
L 6000 mm
Item Code R10-45R30
| x 15,18 cma4
Iy 12,72 cma
534 cm?
W 5,04 om?
Wy 1,86 kg/m
G 6,89 cm?
A
VPE / PU 20 Stk. / pcs.
L6 000 mm

Iltem Code R10-45R90L



Series 1 Grid 45 10

8,01 cm*
Iy 8,01 cm*
3,20 cm?®
W 3,20 cm?®
Wy X 1,27 kg/m
G 4,70 cm?
A
VPE/PU 20
Stk. / pcs.
L
6000 mm
Item Code R10-4545 ﬁ[ ﬂ
.J_j o 17
I x 13,94 cm* Y i) oo
Pl
Iy 13,94 cma SIRNEPY
w |G
6,19 cm? Wy 19 cm? ™ &
45
X
G 2,03 kg/m
7,50 cm?
A .
VPE / PU 20 Stk. / pcs
L 6000 mm
Item Code
R10-4560

' | 3
I x 37,55 cm 4 D D
4

|y22,66 cm 12,52 cm? chph |

W 10,07 cm? ] -+ 2] 2k
Wy x 3,01 kg/m
G 11,14 cm? [:] q? D

A L | )

VPE /PU 20 Stk. / pcs . 45

L 6000 mm




Series 1 Grid 45

Iltem Code
| X 4
Iy
Wiy
Wy X

G
Al

VPE / PU 12 Stk. /
L

Item Code

VPE / PU
L

Item Code

R10-4590L

81,82 cm
23,53 cm*
18,18 cm?
10,46 cm?
3,05 kg/m

1,29 cm?

6000 mm

R10-45180

57,77 cm#

771,07 cm#
85,67 cm?®

25,68 cm?
6,96 kg/m
25,78 cm?

6 Stk. / pcs
5600 mm

R10-9090L

210,50 cm

10

pCs.

180




Series 1 Grid 45 10

210,50 cm v ( ’
' () &
46,78 cm? Wx SN G —
Wy 46,78 cm? o d
G 6,34 kg/m ~ —
Jl\fz Sl\l
A 23,46 cm? élj\rsﬁ %ZI
VPE / PU 6 Stk. /
ocs QT g
L 6000 mm 4
|
Item Code R10-90180L
&%
Ix 1.379,86 cm*4ly 398,86 cm 4 t:
Wi X — #5
153,1 cm?

Wy
G 88,63 cm?

A 11,41 kg/m it
VPE/PU 3Stk. ~ 4226cm* heq 0

L 6000 mm




Series 1 Grid 50

Item Code

Ix
21,68 cm*+ Y

VPE / PU
L

ltem Code

Ix

Wi X
Wy
G
A
VPE / PU 10 Stk. /
L

Item Code

R10-5050L

21,68 cm*
8,67 cm?

8,67 cm?
2,57 kg/m
9,52 cm?
20 Stk. /pcs.
6000 mm

R10-50100L

165,70 cm
43,00 cm
33,14 cm?®

17,20 cm?
4,73 kg/m
17,51 cm?

6000 mm

R10-100100L

10

CS

7
E

L
(M)
10 i

-
%L \

B
L

5
Jﬁtj‘




10

I, 31,71 cm . N
| 31,71 cm
Lnon - (AT
Wx 31@&7&@ -PEAT 9=
W 10,57 cm? Mg e,
v ; — +}~—*7 L ol
R P/am) 2
v 63T Bkghn #’L/ JC NG
A 9,52 cm? | | 2 4
VP@&/ PU 30 $tkctaes. Q 5y | @2\
L - 6000 mm }ﬁ O | &
L 6000 mm 100

Series 1 Grid 60

Item Code R10-6060L

Series 1 Special Profiles

Item Code R10-D28L
Y
Ix 1,02 cm
ly 1,97 cm
Wx 0’88 cm? 1 1cm®
Wy X 2,63 cm?
G 0,71 kg/m
A

VPE / PU 20 Stk. /pcs. /
L 6000 mm /



Item Code
I x

ly
Wy
Wy X

G
A

VPE / PU

L

Series 1 Special Profiles

Item Code

VPE / PU
L6

Item Code

/pcs. L

R-D28L

1,33 cm#
1,33 cm#

20 Stk. / pcs
6000 mm

R-D28
1,61 cm
1,61 cm

20 Stk. /
000 mm

R10-Abdeckprofil

0,057 kg/m
0,21 cm?
VPE / PU
2000 mm

0,50 VW;

0,50 cm?®
0,48
2
1,79 cm L

.
®28

11,3

-

25 Stk.




10

Series 2 Special Profiles

4
Iltem Code RK-8080
G 1,53 kg/m
A 56,7 cm? VPE
| PU 8 Stk. /
pes. L 3000 mm @

77




Series 2 Special Profiles

80

2.5

Item Code RK-80D
G 0,55 kg/m m —
A 20,4 cm?
VPE /PU 8 Stk. / pcs.
L 3000 mm
Item Code RK-4040 ﬁ
)
G 0,58 kg/m
A 21 cm?
VPE / PU 12 Stk. / pcs.
L 3000 mm 17
~




80

A
—
/]
/ {
=Sl =
%
) /
¢E_| l__ L s
A B © D B }
N [mm] [mm] [mm] [mm] [mm] Weight
LAM-0300-A 10 27.6 39.0 65.0 19.0 3.5 48.0 Plastic POM
10 21
~ ? B
4 i @' <
o~
< = [ -
~

Iltem Code

G

A
VPE / PU

L

RK-40D

0,31 kg/m

11,35 cm?
12 Stk. / pcs

3000 mm

Series 2 Special Profiles




Slot Item No. N Weight [g] Material Finish

8+10 LAM-0300-BC 8/10 9.0 Plastic POM Natural
80 A-A A
25 25 15 5
A
AR
r ~
7
| >
]2 A, c
Slot Item No. N [m'?-n] [mBm] [mCm] [mDm] [mEm] Weight [g] Material Finish
10-10 LAM-0300-CC 10 27.6 39.0 6.51 9.0 35 53.0 Plastic POM Natural
Material Finish

Steel/class 8.8

Zinc Blue




10

1.4

ENGE

n

X
8.5
8.5 y
Slot Item No. M X Y z
E3 LAM-T410B-20 M8 20 25.7 16
[l | LAM-T410B-25 M8 25 30.7 2
(45 | LAM-T410B-30 M8 30 35.7 26
—-r'-—
v
T |
&) - ;
= =
Item No. Spec. Material Finish
LAM-CB-S8  58*25,Self-Tapping Steel/class 10.9 Zinc Blue
51 1.8
|
T
M~ o '\ p//—————"—"—=
= 2= Z[ - 2
= 25 A
L 30 o




Item No. Spec. Material Finish

LAM-CB-M8 M8#25 Steel/class 8.8 Zinc Blue

3!
4 12
- 3 -
‘ [ T
| =3 B
' , ‘
| | l‘ 24 .J 5_j
13 16/ a e
Item No. Spec. Material Finish
Steel Black

LAM-FRC-M6x16 ~ME*16

Material Finish
Steel Nickel

Item No. Spec.

LAM-FRC-M6-12 M6™12

Bolds & Screws / T Slot Bold

2.08
——
0 o
5| TP E * .
N -
3.3 16 ) 4
Spec.
€
b

LAM-FRB-M6X16 Stainless Steel




o~ B0 et e |
« B 2
' V .
3.3
16
tem No. Spec. Material
LAM-FRP-M6X16 ~ M6*16 Steel Black
el
Item No. Spec. Material Finish
LAM-CB-M12-30 M12*30 Steel/class 8.8 Zinc Blue

$12#1.5

Item No. Spec. Material

LAM-CB-S12-30 512*30,Self-Tapping

218.5

Finish

Zinc Blue

Nut / T Slot Nut




®11.5

\ 5.7
\_.
{ . ™
Q;\i 43 5.7
C— ~ b
n ~
I S /)
.-"’
M/ :/ J
1] 3.2
Slot Item No. Spec. Material Finish
EEJ LAM-NUT-R6-M4 M4 Steel Zinc Blue
45°
T T =
< | | <
© It
~
| | -
16
M : 7.9
LY
L [—
o
™~ \ Y a—
Y,
$7.9
Slot Spec. X Finish
8 Item No. Material
E2d LAM-NUT-R8-M4 M4 Steel Zinc Blue
E2d LAM-NUT-R8-M5 e Steel Zinc Blue
EED LAM-NUT-R8-M6 ", Steel Zinc Blue

Nut/ T Slot Nut




®5

1.7
X ‘ \
oh ™ Y \ | \
| @ \ \ \
[(s]
N
NN l AN
8.3 M
13.5 | 22 -
Slot Item No. Spec. Material Finish
E2d LAM-NUT-R8-M8 M8 Steel Zinc Blue
‘z‘;
| | "
. B
g
| 1 ”
19.6
M
-
L) e
R )
19.6 ,,r o
Z
13.6
Slot Item No. Spec. Material Finish
£l  LAM-NUT-R10-M4 M4 Steel Zinc Blue
K2 LAMNUT-RIOMS s Steel Zinc Blue
EX  LAM-NUT-R10-M6 M6 Steel Zinc Blue
K2 LAm-NUTR10-ME M8 Steel Zinc Blue
5 5.5 M
S -
20
Slot Item No. Spec. Material Finish

2 LAM-NUT-URR10-M8 M8 Steel Zinc Blue




Nut/ T Slot Nut

9.3
N
}/
”/

1
/
\ji-_

; A\
-
/ |
7.9
M
Slot Item No. Spec. Material Finish
EEd LAM-NUT-FR8-M6 M6 Steel Zinc Blue
EEd LAM-NUT-FR8-M8 M8 Steel Zinc Blue
20
y O:O fxe [ \\.\
o ‘ o N
1if 9.7
M
Slot Item No. Spec. Material Finish
EX LAM-NUT-FR10-M6 M6 Steel Zinc Blue
E LAM-NUT-FR10-M8 M8 Steel Zinc Blue
16
1.8

7.8

15.9




Spec. Material

Slot
M6 Steel
8 Item No. Zinc Blue
LAM-NUT- Finish
URR8-M6 inis

LAM-NUT-URRS-M8 M8 Steel Zinc Blue

Nut / Flange Nuts

®21

Slot Item No. Spec. Material Finish
LAM-NUT-F-M8 Steel Zinc Blue
Al
= :fl_//
M8
.-.ié-?. 4-M8
B ] Ry — 7T T, T ——
) _1 2 T/ |/ - L]
11 65 65 11
|- 180 -
Slot Item No. Spec. Material Finish

m LAM-NUT-R1010 4*M8-180 With Screws Steel Zinc Blue




Alu Profile Accesories

A
f4.3 11.5
- B #16.75
R D T —
s _
AN \P< :_)<\
AN \c T 1.2
®8.5
Finish
R EReie™ 2 BN (S sl EncBile
il LAM-FL-45 37 242 @8 Steel Zinc Blue

45%45 a2 28 ®8




Alu Profile Accesories

-8
N 1 ]
| |
@
]
(=}
o R—
5 |
14
6.9 20
Slot Item No. Material Finish
<D | LAM-QRS-90 Steel Zinc Blue
20
$6.9
14
a _
s
/"'\\
o -
| |
1 ]
0/
N2 #
7.8
Slot Item No. Material Finish
&b | LAM-QRS-0 Steel Zinc Blue
28
&—
99.6

~
o —— PR
s
AN S e N ol
5| W)
N
_[ B
wn
$19.5
— e —
Slot . Finish
Item No. Material

£ LAM-QR10-0 Steel Zinc Blue




Alu Profile Accesories

28

$9.6

T
uns

$16.7
|

- ‘

—T

26.6
45.5

Slot Item No. Material Finish
B LAM-QR10-90 Steel Zinc Blue

N

P
oc

/)

%

(I

|

SiEL
L8

Slot Item No. Material Finish
&b | LAM-QROS8IP Powder iistialiutgyy Grey




Alu Profile Accesories

;5

g
i
i

Slot Item No. N H Profile Material

[ i | LAM-QR1010 10 3 45 Zinc Plated Steel




Alu Profile Accesories

B

— R C==

H

M

—
&

O

]

« 15.33 _ |
Slot Item No. Material Finish
ES3 LAM-3024-20 Die-cast Alu. Dull Polished
Cap LAM-3024T-20 Nylon Black

(; A
A
Slot Item No. Material Finish
ﬂ] LAM-3024-30 Die-cast Alu. Dull Polished
Cap LAM-3024T-30 Nylon Black
38 9
|
! _ [I |] _
,,)fo I I
I 2 ==
[ 1] ] ]
u) —_— —
o)
- _— L
i \ L] mi ]
[
—-—-A
Slot Item No. Material Finish
[ wlls | LAM-3024-40 Die-cast Alu. Dull Polished
&b | LAM-3024-40C8 Die-cast Alu. Dull Polished

Cap LAM-3024T-40 Nylon Black




Alu Profile Accesories

41.8
!
1N if’ (T 5
{ il
O
| \_J [\ J ‘3;_
i U —r U q\)
LA
Slot Item No. Material Finish
<> | LAM-3024-45 Die-cast Alu. Dull Polished
Cap LAM-3024T-45 Nylon Black
8 - 58 _
Uﬁﬂn = &AL A
i o 7
6.5 o
I 0
§ ITe)
6] | -
Slot Item No. Material Finish
648 LAM-3024-30D Die-cast Alu. Dull Polished
Cap LAM3024T-30D Nylon Black




Alu Profile Accesories

80

D 4

8.5 i 90"
|
8 1]
Il & \
| M as AN
& L7V
10 - 80 -
Slot Item No. Material Finish
6+8 LAM-3024-40D Die-cast Alu. Dull Polished
Cap LAM-3024T-40D Nylon Black

88
RN

| S 4
—

-—)

i e o 7 ya 7
- - ! /Af/ ~
10 88 o
N
Slot Item No. Material Finish
8+10 LAM-3024-45D Die-cast Alu. Dull Polished
Black

Cap LAM-3024T-45D Nylon




Alu Profile Accesories

6.5 93 28 -

]

T

L=

Slot Item No. Material Finish \
8+10 LAM-3024-60 Die-cast Alu, Dull Polished

Cap LAM-3024T-60 Nylon Black
88
9 A
L
|
n
0
~ ~
o /L L
W[ a]
Iltem No. Spec. N Weight Material Finish
Die-Cast
LAM-3024-90 902 10 3580 i Black
LAM-3024T-90 90¢ - 60.0 Nylon Black
3.5
90
51]
[+4]
43
@17.8
%I
Slot Item No. Material Finish

E:d LAM-091-A Die-cast Alu. Dull Polished




Alu Profile Accesories

C
2ml
7R
& )
A
F
u% - —
B D
Slot Item No. A B C D E F 2*M Material Finish
ity | LAM-3023-DI 9.8 87 38 32 38 M8 Die-castzinc  Nickel Plated
|0
| 7

0
Finish
slot Item No. Material S
8 LAM-3023-EE Steel Zinc Blue

N ] .
Item No. Spec. Weight Material Finish
vveuyuie
Die-Cast

LAM-3023'A 30/45Q 8/10 45.0 Aluminum/ Nylon Black




Alu Profile Accesories

~
2
045 62.8
N Weight
Die-Cast
LAM-3023-C  45/45¢ 10 1550  auminem/nyion  Black

12 L4 2

g L
T D' B

ERL

2al '
ﬂ $13.4
u o J
For Profile Item No. Material Finish

20*20 . .
—LEAM=WB210-A— — Die-cast Alur—— —Dult-Polished—



Alu Profile Accesories

Item No. A B C D E F Material Finish
LAM-BU-R10-M12-M6 M12*1.5 LH 6.5 Hohabonsted e Blue
[ HRC 50%557)
30
— — ®21
¢3 / -
[ '
I N . /

°

C $9.1
~ A s HN .
~ o J I

C |

© | @ g

U T W U

434
For Profile Item No. Material Finish
30*30 LAM-WB310-A Die-cast Alu. Dull Polished
40 10.5
o ul m

6.5

en o12.4 P - Oy,
| N j
s | .

; R —
o]

1w

0
| o

For Profile Item No. Material Finish
40*40 LAM-WB400-A Die-cast Zinc Alu Color




Alu Profile Accesories

45

For Profile Item No. Material Finish

45*45 LAM-WB450-A Die-cast Alu. Dull Polished

Item Item No. M N Material Finish
Cap LAM-WB30R90-A M8 8 Die-Cast Zinc Alu Color
LAM-WB30R90-T - - Nylon Black

Cap




Alu Profile Accesories

AA -A
B
= o~
z -
T @D\ . :
g R <
{1118 [ -]
A
[

Item Item No. M N Material Finish
Cap LAM-WB45R90-A M12 10 Die-Cast Zinc Alu Color
Cap LAM-WB45R90T - - Nylon Black
| |
f =1 \
- 087
g = $/E
39.9 | =
X A
. "+“ J
30
Slot Item No. Spec. Material Finish

E2d LAM-3005-30B 30*30 W/Lock lever Die-cast Zinc Alu Color




Alu Profile Accesories

60.2
40 _|_ 30.1
D:!:D 1~ T
| Bod =
<
Slot Item No. Spec. Material Finish

8+10 LAM-3005-40B 40*40 W/lock lever Die-Cast Zinc Alu Color

65.19

b.E.._

[ I ([
T - I B7 7‘E E
Pl
| J L0 [NEEE|
8 45
60
Slot Item No. Spec. Material Finish
8+10 LAM-3005-45B 45745 Wflock lever  Die-Cast Zinc Alu Color
=3 =
oD
Item No. Material Finish

LAM-3023A-01 Steel Zinc Blue




Alu Profile Accesories




Alu Profile Accesories

$70.4

Item No. M
LAM-3025B-2 M12

L Base Material

70  Steel Base with Rubber

Bolt Material

Steel,Zinc Blue

Item No. M
LAM-3025HB-M12 M12

i
|

L Base Material

70 Heavy Steel,Zinc Blue

Bolt Material

Steel,Zinc Blue

M8

Item No. Spec.

LAM-3025B-M8  ®29 M8*50

Base Material

Strong Nylon

Bolt Material

Steel,Zinc Blue

W




Alu Profile Accesories

12
'/ B 1 - ot —— o
) Y
A B
ﬂllll'MIﬂl“l'lllﬂl'llllll'd\llWJI“W\'I\HW U i
|
18.3
b L
o
S s &
15
1 |
T
T— 6 il
Item No. M L1 L2 Spec. Material Finish
LAM-3026-N1266 M12 55 14 ®80 Steel / Nylon Zinc Blue
LAM-3025-N12100 M12 100 14 ®80 Steel /Nylon Zinc Blue
LAM-3026-N1470 M14 70 14 D80 Steel /Nylon Zinc Blue
0_20 .
I BE5=H,
153 | !4
1
il
Item No. Material Finish

LAM-A70-01 Steel Zinc Blue




Alu Profile Accesories

(Lmi&

AY)
?65 ®11.6
E F
Wﬁ*ﬂ'ﬁﬁ
0
\J)
Slot Item No. Spec. A B G D E F  Material Finish
6+8 LAM-SC-30 3030 53 30 445 24 7.9 59 Nylon Black
8+10 LAM-SC-40 40%40 62 406 495 30 99 79 Nylon Black
8+10 LAM-SC-45 45%45 71 45 495 30 9.9 7.9 Nylon  Black
I - S
. S
OXCIFE
m‘ o
h! —
] e w
~
-" W
© O
‘.._1.7-—
Slot Item No. Spec. Material Finish
5+6 LAM-SCHM20 20*20 Die-cast Zinc Alu Color
_/'—\m ‘__W 50
s Bl ol = ® 6
= Y e o
—=F-F= -
= mad <
(9] L"k + @
— L] -,
28
Slot Spec. A C1 G2 -
Item No. B Material Finish

6+8  LAM-SCHM30
2110 LAM-SCHM40
g+10  LAM-SCHM45




Alu Profile Accesories

25 =B
el
("_\
2L g
Q
n n ",j R
folEdaolr s = ©1 a
P SOV~ N =
-0 .
Slot Item No. Spec. Material
6+8+10 LAM-SCHM45-30 30/45 Die-cast Zinc

oHe |s

Al - A2

B1
9% 0%

C
. Pt 26.5

A A
Spr 102
[m [m
Item No. N m m
45/
LAM- 45
SCHB-45 25 25
0 o .o 450

Bl

[mm]

B2 FA FRm
M max  ax
"ow W Welg
ght oo
Materic Fini:
AE)S 150 28 Nylon/ Blac
Reinfo

rced




Alu Profile Accesories

28
20 19.2 |l
<~ = — t d
<4 |
SN - U
N 5 i . I‘ I
] e e |
N~ > \‘ !
NN\ - lss
i G
10 — —
Item No. Material Finish
LAM-TSIM-0200 Nylon+Steel Black
76.25
56.75 7
1873 755 |
? II-T < |"- \\ ! | |
Item No. Material Finish
LAM-TSPA-0100 Nylon Black

i1
.



Alu Profile Accesories

F

Slot Item No. A B C D E F G M Material Finish

B  LAM3026B 25 25 6 49 10 19 156 M6 Nylon  Black

18.5
a1 a
< |
T
N7 0
N
Al A2 D -
Slot N Thread [mm] [mm] [mm] W@u@ﬁf
8 Nylon/
Ed | AM-3026-B30 18 8 M6 70 19 ) 8.6  Glass Fiber
Reinforced
22
. —
| o |
|

Black




Alu Profile Accesories

Item No. D E  Material Finisn
A C

t
LAM-3026-C 5 6 Nylon Black

11

[a)
 —
- &

22
Slot Item No. A B C D E Material Finish
LAM-R10-KBBPA 9.8 8.5 17 5 6 Nylon Black
A-A n
—
| A7
o : = , // . -
- | Y
! b 9 DN
Al A2
—3=] 2
022
Slot A2 -
e e No mm WEBRE
Nylon/
‘E’ LAM-R8-KBB30 8 2.1 4.4 Glass Fiber Black

Reinforced




Alu Profile Accesories

B
< I
B B f 4 AN |V,
|
A
Slot Item No. Spec. A
EEd  LAM-3027-AA 20720 20 6 5.4 Nylon Black
&b | LAM-3027-A 30*30 30 8 ®8.2 Nylon Black
KX _AM-3027-B 40740 40 10 ®105 Nylon Black
B2 LAM-3027-C  45*45 45 10 ®10.5 Nylon Black
£ | aAm-3027.H 6060 60 98 105 Nylon Black

~
w
|

8'6

bd

e
.

=

®10.5



Alu Profile Accesories

. Mater a Finish
ec.
Slot Item No. P A B C Nylon Black
[ | LAM-3027-  30%60 30 60 30
£3 LAM-3027-D  40+g0 40 80 40 Nvlon Rlack
£3 LAM-3027-E  45+9p 45 920 45 Nylon Black
7~ { N )
¢ | ¢ |E
> o - — - + fffff H —H
o | & J
< © i
; A =
B
A
Slot Item No. Spec. A B C Material Finish
i | LAM-3027-F R0*80 20 40 ®10.5 Nylon Black
0 ! ] i
[ wile | LAM-3027-G 90%90 90 45 ®10.5 Nylon Black

S Y
Slot Item No. Spec. A B C Material Finish
EX  LAM-3027-RB  40R 40 9.8 ®10.5 Nylon Black

[ | LAM-3027-RC 45R 45 9.8 ®10.5 Nylon Black




Alu Profile Accesories

(A) LAM-3027-D28

(B) LAM-3027-RD28

Item No. Spec. Material Finish
LAM-3027-D28 @28 Nylon Black
LAM-3027-RD28 @28 Nylon Black
11
3| @28 _ 8 _ 28
[ 3
I
- 8.8 o 0.7
% A
m
9.1
Slot Item No. Spec. Material Finish Weight (G)
e | LAM-R8-090 L=2000 PP Black 7.85g/m
- 11.6 !

- 10.6




Alu Profile Accesories

Slot Spec.
4| L=2000 Finish
LAM-R10-090 PVC 449/m
|
10.2
-~ N
(o,
S
|
~
N
wgt
Slot Item No. Material
ini Weight (G
&b | LA Plastic PP + TPE Finish sight (G)
|
q
d P
| -
(o
o
—
9
Slot ltem No Material
’ i Weight (G
m LAM-R10-040 Plastic PP + TPE Finish €9 ( )




Alu Profile Accesories

] 30, 40, 45, 50

69 >5
|
1
g
PN sk
L <~ i
T
3 ~
4 L
36.5
40
N
Lock Weight
: Die-Cast Black Powder
LAM-0957-A Universal 2355 Aluminum coated
) yd @
A
I
T g
1@ 15
D
Item No. A B C D Material
LAM-3034A 141 40 26 122 Nylon Finish
102.8 9.2 . 984 _ 26 [
F i
f‘:\ ~
1 1N
ad
91.3
102.8 9.2 98. 4
F |
o™ ~
~N= -
| 1| N
2L
- 91.3 o 22.8 LAM-0120-A
Item No. Material Finish
LAM-0110-A Nylon Black
LAM-0120-A

Nylon Black




Alu Profile Accesories

E ]
[-+]
Slot Item No. A B C D E Material
8+10 LAM-0100-A 65 38.5 16 5.8 @17 ABS+Hook:Steel
M12*30
Material:Steel

Screw
Material : Steel

Material : PU
Color :Purplish Red
Black PU

Material: PP

M12*30
Screw
Material : Steel

Material:Steel

Material : PU
Color :Purplish Red
Black PU

Material : PP

t 9o
LAM-RC-30 75mm 32mm 106mm  73*45mm
LAM-RCB-30 75mm 32mm 106mm  73*45mm 110

A-A 30
|
s
@ <
S } o[ B
S = ®
|
N
Slot Item No. Material Weight (G)
3 LAM-R48B Nylon PA Finish 1




Alu Profile Accesories



Roller Tracks

25
49.5
| LN
o 0
™~ o~ P o
m g © ~
| N
.10,8
34.8
Item No. Roller Material Rack Material Standard Length

LAM-R28DT Yellow ABS Zinc Plated Steel 4 metars




Slot Item No. [mBm] N Weight [g] Material Finish
8-10 LAM-RS45 45 10 230 Die-cast Alu. / Nylon Black

Roller Tracks

25
]
|
D A AN AN AN AN AN ATN
e
{"'\* |
% T
R| 35.3 12}
Item No. Material Rack Material Load-bearing Weight Standard Lenght
. - 4 meters
LAM-R33PP Black PP Zinc Plated Steel 10 kg/axis 1.06 kg/m (also can be customized)

. . 4 meters
LAM-R33PP-ESD  Black PP - ESD Zinc Plated Steel 5 kg/axis 1.07 kg/m (also can be customized)




Connector Set

Used With

Cold-rolled Steel Zinc Blue Roller track

LAM-RL-33
! - 5

Item No. Material Finish

L)
~| &3
wn
<
<
(o]
-+
Item No. Spec. Material Finish
LAM-D28-090 SetAngle Connector Die Cast Aluminum/ 7. plated
/ 45° Steel
@34 o
$28 ola
ﬁ:' | N
AN n
{\( ,/',: g
+ —
Item No. Spec. Material Finish
LAM-D28-091 Set T Connector Die Cast Aluminum / Zinc Plated
228 Steel

Connector Set



Spec. Finish

LAM-D28-092 Set Cross Connector  Die Cast Aluminum / Zinc Plated
@28 Steel

<
o
S|
53
<
<
Slot Iltem No. [V} Material Finish
[ wlly | LAM-D28-095 28 mm  Die-castaluminum Connector: Plain

Assembly set: Steel Assembly set: Zinc plated




“ | |
—
\_
) — "
m t
o™ —
% j
?28
Item No. Spec. Material Finish
LAM-D28-094 Set Thre%dZ%d Sleeve Nylon / Steel Black

Wire Mesh Panel



-III

Item No. _ i Max. Size Weight kg/m2
Mesh Size Wire Gage Color inches (Ib/ft2)

LAM-2525B
™17 12 Black 48 x 96 4.17(0.85)

CONTACT US:

WWW.MAXIND.MX




